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GENERAL INSTRUCTIONS

1) The question paper comprises of two sections, A and B. You are two attempts both the sections.

2) All questions are compulsory.

3) There is no overall choice. However, internal choice has been provided in all the three questions of 5 marks category. Only one option in such question is to be attempted.

4) All questions of section A and all questions of section B are to be attempted separately.

5) Question numbers 1 to 4 in section A are one marks questions. These are to be answered in one word or in one sentence.

6) Question numbers 5 to 13 are two marks questions, to be answered in about 30 words each.

7) Question numbers 14 to 22 are three marks questions, to be answered in about in 50 words each.

8) Question numbers 23 to 25 are five marks questions, to be answered in about 70 words each.

9)  Question numbers 26 to 41 in section B are multiple choice questions based on practical skill. Each question is a one mark question. You are to select one most appropriate response out of four provided to you.

 

                                                   SECTION (A)

Q.1.What is the angle of reflection if a ray falls normally on a plane mirror?

Q.2. Write the structural formula of chloroethane.

Q.3. Name any two abiotic components of an environment.

Q.4. How does the atomic size vary as you go down a group?

Q.5. The refractive index of diamond is 2.42. What is the meaning of this statement?

Q.6. What do you mean by total internal reflection? Identify the condition in which it occurs.
Q.7. Where do you think hydrogen should be placed in modern periodic table. Give reason.

Q.8.Why do we prefer a convex mirror as a rear-view mirror in vehicles?

Q.9.What is the function of seminal vesicle and prostat gland.

Q.10. What is meant by saponification? Illustrate it with the help of an example.

Q.11. What is presbyopia? How can we correct it?

Q.12. What factors could lead to the rise of a new species?

Q.13. Why are carbon and its compound used as fuel for most applications?

Q.14. (a) State the basic laws of refraction of light.

          (b) Using Snell’s law prove that;   n21 x n12 = 1

Q.15. What is difference between ovulation and menstruation?

Q.16. A doctor has prescribed corrective lens of power +1.5 D. Find the focal length of the lens. Detect the defect of eye. Is the prescribed lens diverging or converging?

Q.17. Explain the importance of fossils in deciding evolutionary relationships.

Q.18. State Mendeleev’s periodic law. Write two achievements of Mendeleev’s periodic table.

Q.19. How is the sex of a child determined in human beings?

Q.20. A concave lens has focal length 15 cm. At what distance should the object be placed from lens so that it forms an image at 10cm from the lens? Also find the magnification produced by the lens.

Q.21. Catenation is the ability of an atom to form bonds with other atoms of the same element. It is exhibited by both carbon and silicon. Compare the ability of catenation of the two elements. Give reason.
Q.22. Draw a labeled diagram of longitudinal section of bisexual flower.

Q.23. Atomic number is considered to be a more appropriate parameter than atomic mass for classification of elements in a periodic table. Why?
Q.24. 
(a) Compound 'A' is obtained from wood-tar distillation. It has specific smell and burning taste. It burns with blue flame to give CO2 and H2O. It is soluble in water. It is used as a fuel and solvent. It reacts with sodium metal and gives out hydrogen gas. It reacts with acetic acid to form pleasant fruity smelling compound 'B' in presence of concentrated H2SO4. Identify 'A' and 'B' and give equations for all the reactions involved.

(b) What are synthetic detergents? Give one example of synthetic detergent. Write its two advantages over soap.

Q.25. 

(a) Is geographical isolation be a major factor in the speciation of a self-pollinating plant species? Why or why not?
(b) What are the different ways in which individuals with a particular trait may increase in a population?
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